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senflsid / MATHEMATICS

(@lﬂgp LoD MILD .:25@8‘:]60 culfl / Tamil & English Version)

&red Sjera] : 3.00 weanfl CHyLd | ' [ Qwrés wHlbuamsdr : 90
Time Allowed : 3.00 Hours | [Maximum Marks : 90

SiMeyenrsr : (1) -‘@{mmgg larrésEpd gflwursl udleird o drergr eraTUFMETF
glluriggé Gsmereraybd. wFsLLFeld Gepulmluler, ons
samsrenfiiurerfLib o Langures Csfalésab.

2) Beod oag smUY eowloa LLECL TWHUSHGD,
<ig&ECaTIy HaugnGh LwaTuhss Ceuam(Hb. UL RIS euamralgnd
Guenfléd uwetuhSse. -

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams. '

L&l - I / PART - I
GoLy : (i) S|DOTES aﬁlsmrrésgs@é;@m aﬂmLmaﬂéaam. 20x1=20
(ii) QarBésiul@erer wrpm doLseied Bsayb ghymLw elamLamws
CampAs®msgs @MU GLer elaLleanyb Gargg er(psew.
Note: (i) Answer all the quesitions. '

(iij Choose the most appropriate answer from the given four alternatives
. and write the option code and the corresponding answer.
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ld X =

(&) auersullLdsdsg

(@) yBuwppg

(a)
(<)

3 [2x - 3|
At x = — the functi ) m B 1
5 ion f(x) LR
differentiable (b) continuous
non-zero (d) discontinuous

YR
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|2‘ 3 ik
2% - 3 CTETLIg)

(<) A+B eratug) em epenaedll L e

(<=1) A+B yang) @ eardli s0&8iT janf

(&) A+B ereug) g Lmslu e

(F) A+B eranug) @ swssT ojeanfl

(5 ) Qg muiradhimentg

(r) Qartsdluppgl

www.CBSEtips.in

A, B arenuen n auflenswyarer s0ééit sieflser. @i (A#B) erafla :

If A and B are symmetric matrices of order n, where (A#B), then :

(a)
(b)
()
(d)

lim

X—yeo

A+B is a diagonal matrix
A+B is skew-symmetric
A+B is a zero matrix

A+B is symmetric

X
(x2+5x+3] )
x> +x+3 '

(=1) €3 (=) e? (@) 1

lim
X—boo

(a)

2 ) A
(x +5x+3J.
- ——— | is
x2+x+3

e3’ (b) e* (c) 1

(d) e?
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log ;3 512 -én Gl ¢
(=) 9 (<) 16 (@) 12 LB
The value of log 5 512 is : |

(@) 9 (b) 16 (c) 12 (d) 18

y=flx2+2) wpmiw f'(3)=5 eraflé, x=1-e %}yz eTemLIg)

(1) 15 ()5 (@) 10 () 25

| . g
If y=f{2+2) and f'(3)=5 then, ?1% at x=11s :

.(a) 15 (b). 5 ; (c) - 10 | (d) 25

Qué earsaier marsgisaad N-&@ A wpmb B ol sanmsar aafld
A'U[(AnB)UB'] eremmLg) : ‘ :
() B (@A @~ (m A

Let A and B be subsets of thé universal set N, the set of natural numbers. Then
A'U[(AnB)UB'] is :

(a) B (b) A (c) N - d) A’

x+2, —1<x<3
fly=14 5~ x=3 ,x=3 - f(4 eTamug :
8-x, x>3 '

(1) 0 | (@)1
(®) fevLssl Quprg (F) -1

x+2, —1<x<3
If fix)=14 5, x=3 , then at x=3, f(x is :
8-x, x>3

(@) 0 : b 1

(c) does not exist (d) .~ 1
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8. tan90° -an wHuy

(o) 32 ()0 (@) ! () =
The value of tan90° is :
(a) % (b) © (9 1 =

9. -"f'(x)ex2 dx=(x—1)ex2+c erafleb, flx) ererig) :

2

(1) B+4x2+6x+c 4 (<) 2x3—%~+x+c
3 3 '
(@) 2%—xg+x+c (FF) 52—+3x2+4x+c
I [fde’” dx=(x=1)e* +c, then f{x) is ;
3 xQ
(a) xP+4x2+6x+c. (b) 2x oo b xte
3 : 3
(c) g-x——xQ-i-xn*-c (d) %+3x2+4x+c

10. A mﬁ)gjfo B arenm @ Hla1pF6&(emé@ P(A)=0.4, P(B)=0.8 wpmib P(B/A)=0.6 eresiled,
P(ANB) -ar oAl :

(=1) 0.56 (<) 0.96 (@) 0.66 () 0.24

If A and B are two events such that P(A)=0.4, P(B)=0.8 and P(B/A)=0.6, then
P(K(‘\B) is :

(a) 0.56 (b)) 0.96 (c) 0.66 d) 0.24
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sec(—0) eremug)

(<24) sech (<) cosb (@) sec(~0) () cos(—0)
sec(—0) is :
(a) sec (b) coso (e) sec(=6) (d) cos(~0)

0 p&Garangdler Qran® waaiydeisefiler Hee QesLiser 37 + 43’ _ 4k

A A A "
WP 21 +3j +4k. eowsGsr @ spduler Haablousi [ 2/} + 3k erafléD,
epaTpTeg) pena) arefluden Hlene GeudL i :

A A A A A A

(=) 27 - j +6k () -2i — j + 9k

A A A : A A A

(@) —2i + j +6k (F) —2i - j -6k
| A QA A

: : | - : LA
Two vertices of a triangle have position vectors 3i + 4j — 4k and 2i + 3 + 4k.

' - A A A |
If the position vector of the centroid is i + 2 j + 3k, then the position vector of

the third vertex is :

(@ 2i-7+6k | (b) -2?—§+9’2
(© _2f+ i +6k | @) 27 -] —._6’2
d
Ixz e2 dx =
X X X s X =

(S0 252 2 — 8xe2 + 162 + ¢ () x? €2 — 4xe? — 8e2 + ¢

- — pl X X X
(@) x2£—£3+ i+c () 2x2e2 — 8xe2 — 16e2 + ¢
2 4 - 8
X
_[xzez dx is
'x x ) x X X X

(@) 2262 — 8xe2 + 16e2 + ¢ (b) x*e2 —4xe? —8e2 +c

b = ek ' X X X

‘(c) xzi'—ﬁ+ﬁ+c (d) 2x2e5-8xe§_—16e5+c
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14.

15.

16.

' L ; ‘ ; - camaallen eramaEens
SIOTGDSUD Gheny eramseanTas QETam_ 5 @ass eramaenen 6 :

(1) 5° ‘ (<) 25 (@) 625 () 5° ,

The number of 5 digit numbers all digits of which are odd is :

5
(a) S° (b) 25 (c) 625 d 5

' 1 _ _ L aaflé
X wiph Y eremn @ Hspiflsense PX/Y)=5, PE/X=73 PXNY)=¢ o

P(XUY) - wéliy :

N

()

wlrn

(@3 @)

(1)

V|

' al 1 ‘ =1
= 7= = Y)=—, then
If X and Y be two events such that P(X/Y)= 5 P(Y/X) 3 and P(XNY) 6

P(XUY) is

ul|no

()

winN

(b) (c)

: 1
(@ &

. ; : o (0 I s Carl_loen FTLIGSET :
3x—y=—5 eran Gan_ (e 45 GaremTid qw‘—‘@g’@m % N

() 1,.;12- (%.) 1, -1

-1 1
@) 2+ () 1, -2

The slope of the line which makes an angle 45° with the line 3x—y=-95

are .

‘ 1
 L-1 @ 25 G

Kindly send me your answer keys to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

17.

18,

19,

www.Padasalai.Net www.CBSEtips.in

7 6012

»

a DHD 1y -8 H(HEEDAS LEsRsaad WaramL. @laemarin ABCD -6m g
5 3 e
el a + b erefld wpQprm apooaliiin BD ety

e "y Ry = = “‘ -3 ad
() a + b () a = b (@) _f}_-é_,ll (/) b =a

sy -3
One of the diagonals of parallelogram ABCD with 4 and b as adjacent sides is

e il

—3
a + b. The other diagonal BD is :

- -

(dy b -a

ol
+
ol

@ a+b b a-b (c)

-9
cx 2 c7+x

2+ 2x+
X a2 3

} erenugy) @ Lmslws Careneu sjanfl eraflad, x-em i

(=) 7 (<) 9 (@) 6 (F) 8

ex—2 e7+x

2+x 2x+3

_is singular .
e e

The value of x, for which the matrix A = [

(a) 7 (b) 9 (c) 6 | (d) 8

A ~ A A AL A ‘ '
101 +3j, 12i =5 wombd ai + 11j duw Hlene Qeusiasaflar yerelasear Gy
Camliqd enobgme ‘a’ -6 L :

(21) 5 ()6 (@) 8 () 3

A A A A, A A
If the points whose position vectors are 10Ii +3j,12i -5 and ai + 11j are

collinear then ‘@’ is equal to :
(a) 5 (b) 6 : (c) 8 (d 3
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20. 1 37 15 N : Iy
2" 38 1 ereum Qg,rrl_n Wperpullern n-,eig) 2 g4 -
(é‘l) 2-Nin-—1 (%) 2051 . (@) on-1 (ﬂ') 1-25"
The nt term of the’sequence 13 715 18
2 4’8" 16
(a) 2—n_|;n_1 (b) 2n_n_1 (C) 211—'1 (d) 1"—2_'11

L@ - II/PART - II
Gy : ﬂmm@"—'@m 6‘1@ aﬂmrra;as@as@ aS]sm_uJerﬂasasmLD a‘ilsarrr ereqr 30 ~65(<5
SLLMuns QS]Gﬁ)Lu_tQﬂa;a;GqLD Tx2=14

Note : AnSWCf any seven questions. Question No. 30 is compulsory.

2L [2x=17|=3 -& x -6 Sirey sreiTS.

Solve |2x—17|=3 for x.

22. sin50°+sin20° -epw QUHESQTE T(PEHS.

Express sin50°+sin20° as a product.

23. c0s135° -a1 UL srams.

Find the value of cos135°.

24, 5 pnmu.umasmm R PO 5W®LDGUW§J FOUBD aﬁlmmma;aﬂm Qrss
TeiTaRilEMSMILIE STENTs.

Find the total number of outcomes when 5 coins are tossed once.
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26.
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28.

29.

30.
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X n incrshugjl,zesx[ebeugs
n-Qug e Uy ag =g L .
n-1ta,-9 ta,_3;n>3
-8 CsramL Qam_topepsaid (paed 4 e pliLsmens srams.
Write the first 4 terms of the sequences whose n'' term a, is given as.

. _|n vifnisl,2o0r3
" lap-1 +ag.9 ta,_3;ifn>3

(1, 1) wpmb (-2, 3) e yeralsdr PG Qsdessguw CrTEGCaTLig e
FOTUTL L& STes.

Find the equation of the lines p'assirig through the points (1, 1) and (-2, 3).

0 sina’ cosa '
A=|sina 0 sin | erafled, |Al-83 Hrams.
cosa —sinf O

0 sina cosa

" Find |A| if A=|sina 0 sinB|.

cosa —sinp O

A A A ‘
5i —3j + 4k -ér lenguller 2 amem @ @ravg CleusLanys Grams.

A A A

Find a unit vector along the direction of the vector 5i — 3 + 4k.

y=x3+5x2+3x+7 -g x -g Qurm5Z cesud[Hs.
Differentiate y=x3+5x2+3x+7 with respect to x.

(x—11)7-8, x -5 QurHSEH CFrensuli(Hs.

Integrate (x—11)7 with respect to x.
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L@@ - [I/PART - 111

0 -5

- 4
. & 7x3=21

GOy : semeuGuend ep oflaTas@né @ ofen L wefl&&56Y
ST elenLwefl&sa).

. . : ulsory-
Note : Answer any seven questions. Question No. 40 1s comp

. _ 2_[_1_&@6‘”5.'561?1“?1’
31. samb A Q&g A={x : x=4n+1, 2<n<5, neN} ereflen, A-e
TR FNSDOWS FHTERTS.

Find the number of subsets of A if A={x : x=4n+ 1, 2<n=5, neN}.

32. uEd Uaramasamrall Mfléseaw : TR

X

Resolve into partial fractions | ———
‘ (x+3)(x—4)

ACCESSIBILITY eréimp eunigenguda e erar arpsgisements uwarL®ssl rsseaan

33.
QeucuGeupren auflans LIHYEIGMET 2 (HAUTESETLD ?

Find the distinct permutations of the letters of the word ACCESSIBILITY.

34. (x+2)7%/3 -g x -én SAHEGEOTS elfleurssn Qeiis.

Expand (x+2)~2/3 in powers of x.

35. 5x+12y-3=0 eramp Carlupew (1, 2) crany Yarafld@n @enCu o drer SITLD

G,

Find the distance from a point (1, 2) to the line 5x+12y—3=0,
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39.

40.
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1 1
s k- yly- (e~ aar
=(x—-Yyly—2(z—x) erem &.
22 y Doy
1 1
Prove that ¥ .2 =(x-y)(y—2)(z— ).
x y2 z?

& ¢ s 4 ) . 0 » . .
5i+3j+4k whmb 67 -8k < QausLits@Ense G LulL Caramgmss
ETERTE.

A A

A A A A
Find the angle between the vectors 5i +3j+4k and 6i -8 k.

. d :
2+y2=1 erafle, d—z ST,

dy

™ if 24+ 12=1.

Find

f'(9=4x-5 wombd f(2)=1 erafle, f(x) srarTs.

If f'()=4x—5 and f(2)=1, find f(x).

@ useLmw @ wpan 2 hLHLCUrg @m @rieLlumL aar Sl GG
erafleh 6 dlen_Liugnaren Hspsse, erarar ?

A die is rolled. If it shows an even number, then find the probability of getting 6.
[ Smliys / Turn over
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u&$ - IV/PART - IV

GOy : Semeatss) oflamésané@n efen_waflgmayib.

Note :  Answer all the questions.

www.CBSEtips.in

Tx5=35

41. (=) wesaEsTOSE 5000 2 drar M BEFSHD pLESILCL @ sams@sBUE®,
Qumfl A Osfpseisd 45%, Qumfl B Qsfpgeurser 25%, Qomg
C Qsfibseutsdr 10%, A wpyd B Qumfsda Qsfbsersdr 5%
B wpmib C Qumflser OsNpseursdr 4%, A wpmib C Qs Qs fpseurser

4% XEW. Q& apey Guwrfsmeryn Qsfpseursear 3% craflév, G

~

A LD AsMBgseiser erésmar GUiT ?

S|EV60F)

¥ 2x + 4
' wEIGHS : —d
() egudd ‘[x2+4x+6 x

oml

(a) In a survey of 5000 persons in a town, it was found that 45% of the persons
know language A, 25% know language B, 10% know language C, 5% know
languages A and B, 4% know languages B and C and 4% know languages A
and C. If 3% of the persons know all the three languages, find the number of

persons who knows only language A.
OR

(b) Evaluate : J‘Qitﬁ—dx
x“+4x +6

cot(180°+8) sin(90°—6) cos(—6)

2
= 6 cotf
42. () sin(270° +6) tan(—6) cosec(360°+ 6) R
S0

(<) UGBS : fx' cosx dx

cot(180° +8) sin(90° - 8) cos(—6)
sin(270°+6) tan(—6) cosec(360°+0)

(a) Prove that :

OR

(b) Evaluate : jx cosx dx
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43. (=) safizs QerEsshed wopuld n=1 -5
2
13+23+33+n“+n3=(9£gi9] eran By 96,

{060 G

N d ] ‘
() x=a(t—sint), y=a(l-cost) erafle, -(_1% e

(a) By the principle of mathematical induction, prové that, for n>1

12
13+23+33+"“+n3=(n(n+1)}
2

‘OR

dy .
(b) Fmd d_x" if x=a(t—sint), y=a(l-cost).

44. (31) 12x% +2kxy+2y%+ 11x-5y+2=0 erep swaur® @rien CrisCsmiigen
: FwaTUTL e & GHSsTed k -6 FlUemLs STames.

S|6V60G)

(<) lim dan i &L a;rrdarra;.
x—0 sindx

(a) For what value of k does the equation 12x2+2kxy+?y +11x-5y+2=0 .
represent two straight lines. .

OR

. tan2
(b) Evaluate : lim s
x-0 sindx

A . | [ Hmuys / Turn over
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45,

46.

-2 2 2 !
2l)cv a C b a b of

(=) | ¢? 2ca~1h? a’ | =|b ¢ a| erer fmeys.

b2 a? 2ab-c?| [ a b

S|V

(<) IOQ(E)-QIOg(é)Hog(—QJ:log2 erem Blmiays.

16 9. 243

2bc-a? c? b2 s bl
(a) Show that | 2 2ca—b2 a2 |=b ¢ al -
b2 a?  2ab-c?| [c a b
OR

75 5 32
(b) Prove that lo [—)—210 (—)H (___]=
816, =8 g)*"108( 553 71082

A A A

' o 8, NG A s : ‘
(=) 2i+4j+3k, 4i+j+9k, 10i-j+6k ererp GCeusLisamar Blen e

OeusL Taemras OareamL LeatlaeT g ClerGaren p&Caramsems S{DD&GLD
eren flmieys.

3|06V
(=) iy srews (i) cosl5 (ii) tan165°,
. o . A
(a) Prove that the points whose position vectors 2] + 43+ 312, 4/1'\ + 9 + 9}2 and

A A A
107 — j+ 6k form a right angled triangle.

OR

(b) Find the values of (i) cos15°® and (ii) tan165°.
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) @68 Qo grysaild, ganfld 6 smiy whpi 4 Sy Hpo L&) el 2-aiamer.
LHEDTH Briguieh 2 &@pLIL| oHmID 2 Heutin) HPL LbgIE6T 2_arerer. FLOGUMLI

poplld em gy Gai0sdssiul® bdGEE 20 Upg
QYCEXANTRIGEY:N

47. (o

(1) SUuBg sEmUUTE Gmliusharer Hepssmed srams.
i) a@ssuuiL  upg -sEuy e  wsd  gryuddeEs
TOHSSULLL shaTen Hepsse| Wrg ?
SIVEVF)
(<) V3x - Y+4=0 aam CarioLé emEsg) g eUEENE LTHNIS.
(a) There are two identical urns containing respectively 6 black and 4 red balls,
2 black and 2 red balls. An urn is chosen at random and a ball is drawn from

it. (i) find the probability that the ball is black (i) if the ball is black, what is
the probability that it is from the first urn ?

OR

(b) Rewrite V3x—y+4=0 into normal form.

-00o0-
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